
Μοιράζουμε δίκαια



6 μοιράζονται σε 2 και θα πάρουν ...



6 μοιράζονται σε 2 και θα πάρουν ...

1+1=2 ή 2Χ1=2

Μένουν όμως 6-2=4



6 μοιράζονται σε 2 και θα πάρουν ...

2+2=4 ή 2Χ2=4

Μένουν όμως 6-4=2



6 : 2 = 3
3+3=6 ή 2Χ3=6

Μένουν 6-6=0



8 μοιράζονται σε 2 και θα πάρουν ...



8 μοιράζονται σε 2 και θα πάρουν ...

1+1=2  ή 2Χ1=2

Μένουν όμως 8-2=6



8 μοιράζονται σε 2 και θα πάρουν ...

2+2=4 ή 2Χ2=4

Μένουν όμως 8-4=4



8 μοιράζονται σε 2 και θα πάρουν ...

3+3=6 ή 2Χ3=6

Μένουν όμως 8-6=2



8 : 2 = 4

4+4=8 ή 2Χ4=8

Μένουν 8-8=0



21 : 3 = ...



21 : 3 = ...
1+1+1=3  ή  3Χ1=3 

Μένουν όμως 21-3=18



21 : 3 = ...
2+2+2=6 ή 3Χ2=6 

Μένουν όμως 21-6=15



21 : 3 = ...
3+3+3=9 ή 3Χ3=9 

Μένουν όμως 21-9=12



21 : 3 = ...
4+4+4=12 ή 3Χ4=12 

Μένουν όμως 21-12=9



21 : 3 = ...
5+5+5=15 ή 3Χ5=15 

Μένουν όμως 21-15=6



21 : 3 = ...
6+6+6=18 ή 3Χ6=18 

Μένουν όμως 21-18=3



21 : 3 = 7
7+7+7=21 ή 3Χ7=21 

Μένουν 21-21=0



54 : 6 = 9

1Χ6=6

2Χ6=12

3Χ6=18

4Χ6=24

5Χ6=30

6Χ6=36

7Χ6=42

8Χ6=48

9Χ6=54



81 : 9 = 9

1Χ9=9 2Χ9=18 3Χ9=27

4Χ9=36 5Χ9=45 6Χ9=54

7Χ9=63 8Χ9=72 9Χ9=81


